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129,155 =

37,960 =
96,045 =

28,584 =

896,381 =

49,357 =
49,012 =
73,180 =

73,312 =

583,601 =

34,560 =

50,502 =

198,848 =

671,415 =
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Name:

Date:

Rounding Numbers 507

377,336 =

71,401 =

223,965 =

76,977 =

320,470 =

39,590 =

996,226 =
605,210 =
342,474 =

649,230 =

38,406 =

764,541 =

32,652 =
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Round these numbers to the nearest 1000.

207,752 =

89,736 =

721,855 =

444,773 =

45,347 =

273,709 =

18,116 =
75,662 =
40,059 =

51,518 =

848,546 =

13,279 =

355,673 =

Why did the woman wear a helmet at the dinner table? She was on a crash diet.
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Score:
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129,155 = 129,000
37,960 = 38,000
96,045 = 96,000
28,584 = 29,000
896,381 = 896,000
49,357 = 49,000
49,012 = 49,000
73,180 = 73,000
73,312 = 73,000
583,601 = 584,000
34,560 = 35,000
50,502 = 51,000
198,848 = 199,000

671,415 = 6/1,000
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Date:

Rounding Numbers 507

Why did the woman wear a helmet at the dinner table? She was on a crash diet.

Round these numbers to the nearest 1000.

377,336 = 377,000
71,401 = 71,000
223,965 = 224,000
76,977 = 77,000
320,470 = 320,000
39,590 = 40,000
996,226 = 996,000
605,210 = 605,000
342,474 = 342,000
649,230 = 649,000
38,406 = 38,000
764,541 = 765,000

32,652 = 33,000
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207,752 = 208,000
89,736 = 90,000
721,855 = 722,000
444,773 = 445,000
45,347 = 45,000
273,709 = 274,000
18,116 = 18,000
75,662 = 76,000
40,059 = 40,000
51,518 = 52,000
848,546 = 849,000
13,279 = 13,000

355,673 = 356,000
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